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Exercise 1: (7 pts) riant 1 (English)

Choose the correct answer (write the letter of the corresponding answer)?

Question 1 Choice s e
1- Aliasing in images means: A T : Image alignment
B O : Bore measurement
C O : Folding spectrum

2- JPEG encoding uses: A C : Fourier transform
B = : Discrete cosine transform

C 0O : Wavelet transform

| 3- Histogram equalization allows: | A = : To have the same gray level throughout the image
B G : Improve the contrast

C O : Decrease the contrast

1

1

|

- The erosion of an object in an A — : Shrinks the shape of the object

l ! . B O : Increases the shape of the object
1

C O : Has no effect on the object

5. In deep learning, the poolingis | A CJ Reducing the size of images

a technigue of : B O Edge detection

\ C O Image restoration

l 6- In computer vision, epipolar A 0 Calculate pixel positions in polar coordinates
geometry consists of: B 00 Restore three-dimensional information from images

C o Perform orthogonal projection

! 7- In machine learning, A 1 : Limit overfitting
regularization allows to: B 10 : Regulate the histogram
C o : Limit the calculation time
]
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gxercise 2: (7 th!
nd verify:

Consider an image ] of size 10 x 10 pixels whose gray levels are coded in 4 bits a
[l(i,}') =i+j: 4j=01234%456789
and if (i + J) > 15 then I(i,j) = 15
I- Give the valyes of the image 19
2- Calculat
gy ¢ and represent the histogram H of the image 17
= er om.l ll.Lt a3, > ' H
o Istogram equalization and plot the final histogram Heq?
" 1mpuls S i)
Pulse noise is added to the image 1 such that: I(1, 2) = 15; (6, 1) = 0; 1(2,3)=15;1(0,3)= 0;
(7,0) = 15.
a) A median filt i7e 33 § : :
3 : ef‘ of size 3x3 is applied to pixels I(1, 2), 1(6, 1), and I(2. 3). Give the new pixel
values after filtering? Detail the calculation?
b) Giv > 9 x
) Give two methods forcomputing output pixels at the boundaries?
¢) Using both methods apply median filtering to pixels 1(0,3) and 1(7,0)?
5- Redo the same questions (4.a and 4.c) with an averaging filter of size 3x3?

6- What is the best filter? Why ?

Exercisc 3: (6 pts)
1- Consider a geometric object ABC with A(3, 4); B(4, 2); C(2, 2). Rotate this object through an angle
8= 90° around the point P(3, 3):

a) Give the transformation matrix in homogeneous coordinates and the algebraic equations?

b) Calculate the coordinates of the new object? Represent on a graph the two objects?
2- Consider an object ABCD with A(0, 2); B(2, 2); C(2, 0): D(0, 0). Shear the object along the X axis at

an angle § = 45°:
aj Give the transformation matrix in homogeneous coordinates and the algebraic equations?

b) Calculate the coordinates of the new object? Represent on a graph the two objects?

3- Consider the square A;B;CiD1 of the figure below:

a) Give the names of the geometsic transformations to transformthe square A;B1CiD)into the
square A2B2C2D.7? Give the values of all the parameters?

b) Give the matrices of geometric transformations in homogeneous coordinates?
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Corrigé Variante 1

Exercice 1 : (7 pts)

Choisir la bonne réponse (écrire 1a lettre de la réponse correspondante) ?

: : Que§ti0n Réponse
.I‘ Le plu.:no‘mcnc d"aliasing dans les (I pt) | C0O:Repliement de spectre
images signifie :
2- Le codage JPEG utilise la transformée : (1 pt) B O : En cosinus discréte
3- L’€galisation d’histogramme permet : (1 pt) | B O:D’augmenter le contraste
4- L’érosion d’un objet dans une image : (1 pt) | AO:Rétrécie la forme de 'objet
5- En deep learning, le pooling est une (1 pt) | AD Réduction de la taille des images
technique de :
6- En vision artificielle, la géométrie (1pt) |B a) Re'stituer I'information tridimensionnelle a
épipolaire consiste a : partir d'images
7- En apprentissage artificiel, la (1 pt) A O : Limiter le sur-apprentissage N
régularisation permet de :

Exercice 2 : (7 pts)

ol1 (2 |3 |4 [5 |6 |7 |8 |8
Gj) =i+ ij=0123456789 [1]2 3[4 ]5 |6 |78 |9 |10
{etSi(i+j)>15310rsl(i,j)=15 _2___2__4 s le |7 |8 |9 101}‘
512 |5 |6 |7 |8 |9 |10]11]12
1- Construction de 1'image I (values): TTG 7 |8 9__1_0__11__1_3__1_3_ (1 pt)
~ 6 7 |8 |9 |10[11[12]13]14
< (7 |8 |9 |10[11]12[13]14]15]
— T |o |10]11]12[13]14[15]15
5 [0 [10|11]12][13[14[15]15|15
5 zo]11]z2|23]14[15[15[15[15]
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5. Caleul et représentation de histogramme () de P'image 1 ;

H= 1234567891094 765 10; (0.5 py)

u izl
B

. 11 __ (0.25 pt)
r
4 |
2
oL ENEE EE
0123456?{19101112131415

3- Egalisation d’histogramme et représentation de histogramme final (Heq) :

Ng *
o (L Z :
4 Taiife_imagex' H;
J

Avec Ngmax =15 : Taille_image = 10 x 10 = 100 ; Z?:o Hj est I"histogramme cumulé,

Heq 10.1510.45]09 | 1.5 1225[3.15T4,2 [ 54 [6:75]5,25] 96 [103] 11,85 12,75 [ 13,5] 15

He (0.5 pt)
Tlolo|1]2]2]3]34 St7 (0810|1112 13| 14] 715
Arrond

) ‘!III (0.25 pt)
H-II“III

012 3 456 7 8910112131415

4- a) Filtre médian 3x3 pour I(1, 2), 1(6, 1), et I(2, 3). Les nouvelles valeurs des pixels aprés filtrage :

' = 25 pt)
i - La nouvelle valeur 1(1,2) =3 (025
=15 Apréstri: 01223441515 - >
Ijour o (1)5 Ap estri: 0566788915 = La nouvelle valeur 1(6, 1) =7 (0.25 pt)
= < : i g -
;Our ;Ef’ ;; 1-5 Aﬁlrfés tri ;44556671515 S Lanouvelle valeur 1(2,3) =6 (0.25 pt)
ourI(2,3)= 15. : 6

: ; aries): )
b) Les deux méthodes pour le traitement des bords (hm'lnd " ‘?ncc i Wionmge 02500
ing’ s 76108 toute la circonlere age. ' _ >
= "Zero: ing! : Mot dss Zeragsur - viaee dans les 8 directions.  (0.25 pt)
Lo ’ﬁ/{' ir’ ou *Symétri¢’ : Créer la symctrie de I"image dans les 8 ¢ (0.25p
- “Mirror” ou ’Miroir : :

» les deux méthodes :
i 2d; : ni s (7, 0) avec les deux met )
c) Filtrage médian aux plxclsol(()/l?))n:S "(i 0000244515 - Lanouvelle valeur 10, 3) =2 (0.25 pt)
‘0-Padding’ : 1(0, 3) = 0. . =

' elle valeur 1(7,0)=6  (0.25 pt)
e tri- 0000688915 = Lanouve
1(7,0)=15. Apréstri:0 6
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) prés ll'i * o) t)
1(7, 0) = 15. pre 10022 444515 > Lanouvelle valeur [(0,3) = 4 (0.255[’ )
Str - -
5- Filtre M:066885891515 > Lanouvelle valeur I(7,0)=8 (025D
re moyenneu (a i
a) Pour |( 2), I( “raging filter)
b 3 6, 1), ct I 2
Pour I(1, 2) = s (2, 3). Les Nouvelles valeurs des pixels apres filtrage moyen :
Pour 1(6, e La nouvelle valeur (moyenne) I(1,2)=5.11 =5 (0.25 pt)
Pour (2 3) = 1'5 = Lanouvelle valeur (moyenne) 1(6, 1) = 7.11 =7 (0.25 pt)
5 + = Lanouvelle valeur (moyenne) 1(2, 3) = 7.44 = 7 (0.25 pt)
b) Filtrag ; i
‘zﬁ:e n;’O}cn AUX pixels 10, 3) et I(7, 0) avec les deux méthodes :
éro- T P
0-Fadding’ : 1(o, 3)=0. - Lanouvelle valeur (moyenne) 1(0,3)=3.33=3 (0.25 pt)
. 1(7,0)=15. - Lanouvelle valeur (moyenne) I(7,0)=5.11=5 (0.25 pt)
Mirror’ : 1(0,3) = 0. - 1. nouvelle valeur (moyenne) I(0, 3) = 4 (0.25 pt)
I(7,0)=15. - La nouvelle valeur (moyenne) I(7,0)=8.33= 8 (0.25 pt)
6- Le meilleur filtre est le filtre médian car le bruit impulsionnel est de type sel & poivre. (0.5 pt)

(Impulse noise, salt-and-pepper)

Cxercice 3 : (6 pts)
1- Rotation du triangle de © = 90° autour de P(3, 3) :

X 1 0 0 ¢, |[cos@ —sin@ 0 O||1 O O —t ||x
Y 0 1 0 ¢,[sind cos6@ 0 00 1 0 —, 11y
21 loo1 ol o o 1ofjoo1 ]|z
1/ 10 0 0 1 0 0 0 1J{0 0 0 1 |1
[x,] [cos® -sin@ t,(1-cos@)+1,sin€ 0} x |
32 sin@ cos@ 1 (1-cosO)—t, sin@ g y 05 pb) l;
- 1 z .
z 0 0
]] 0 0 0 11
a) Matrice de transformation (R/p) en coordonnées homogenes : Ona z =2
fcosf —sin@ 1 (1—cos)+1t,sind 0 -1 6
; St
sin@ cos0 ty(l—cosé?)—f-xsmg S Rp=|1 0 O (0.5 pt)
_ st sur le plan x, y, 1 dimension z est annulée):
n c ] 4

Les équations algébriques (comme 0

¥l = —y + 6 (02'3 l)l)
{ yl=x

(3x0.25pt)

b) Calcul des coordonnées de AiBiCi @ Al



- O = N W s O
@)
=

L}
-

01 23 45

2- Un cisaillement (Shearing) au rect

(0.25 pt)

angle ABCD selon I'axe des X d'un

a) Matrice de transformation en coordonnées homogénes : angle de f# -~ 450 .
xl] _ [1 tang([;)] X = | )
vl 0 1 : ly] = Cisaillement Ci = g) i] i
Les ¢quations algébriques : {xl =Xy
= Y (0.25 pt)
b) Calcul des coordonnées de AiBiC/D; : A1(2,2) 1 Bi(4.,2) : C1(2,0) : D1(0.,0) (4 x0.25 py)
° 3
: = 1 2 Al Bl
1 ! (0.5 pt)
¢ D C 0 S =
-1_1 @ 1 2 3 4 5 T 0 1 2 3 4 s

3- a) Les transformations géométriques pour passer de AiBiCiD1 a A2B2CaDa + les parametres :

1¢¢ méthode

2 méthode

e Rotation de 8 =—90° autour de P(2, 2

e Translationde 7x=-4et Ty=0

0.25pt) | o
0.25pt) |

Translationde Tx=—4et Ty =0

Rotation de 8 = —90° autour de P(- 2. 2)

b) Les matrices des transformations géométriques en coordonnées homogenes

1¢¢ méthode

2¢me méthode

0o 1 Tx] [0 1 —4
T=[00Ty=000

0 0 1

e Rotation R e Translation T
r : 0 1 Tx 01 -4
‘ cosé —siné rr(l—cos£9)+r‘,.sm9 'I'=[0 0 Ty]=[0 0 0
sin@ cos@ ¢,(1-cosd) 4 sin & (0.5 pt) 0 0 1 0 0 1
—_ 0 0 1 e Rotation R
0 10 cos@ —sin8 r.(1—cos&)+t, sin &
R=|-1 0 4} sin@ cosé@ (1-cos8)—t, siné
o 0 1 R= L 0 0 \
e Translation T 050

0 10
R=\-—1 0 4
0 01

R




